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HOME SCIENCE
Paper-I11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

1.  The homogenization of milk is done

(A) to destroy pathogen 7. Operant conditioning is also known as
(B) to disperse fat molecules (A) Instrumental conditioning
(C) to enhance nutritive quality (B) Classical conditioning
(D) to help making cheese (C) Essential conditioning
(D) All the above
2. TIron and folic acid requirements for a o
pregnant woman are : 8.  Informal education is also often termed

(A) 30 mgm and 200 pgm/day as

(A) Incidental education
(B) 32 mgm and 250 pgm/day

(B) Non-formal education

(C) 35 mgmand 300 ugm/day (C) Life long education
mgim an pgm/day ontinuing education
(D) 38 d 400 pgm/d (D) Continuing educati
3. Which of the following Food delivery 9.  Epidioscope is also known as

system is used for Hospital inpatients ? (A) Overhead projector
(A) Decentralized system (B) Opaque projector

(B) Buffet (C) Indirect projector

(C) Scramble method (D) Slide projector

(D) Centralised system
10. The following is not a scale of
numerical measurement :

4. Which of the following is not a design Code :

repeat ?
(A) Halfdrop (B) Heald (g) ;neryal 1scale1
(C) Mirror (D) Satin (B) Nominal scale

(C) Ordinal scale

(D) Ratio scale
5. Which of the following is not a simple

yam ? . 11. Which of the following are toxic
(A) Single (B) Textured constituents in pulses ?
(C) Ply (D) Cable L. Trypsin inhibitors
II.  Alkaline phosphatase
6. Intrinsic value is also called II. Heamagglutinins
(A) Personal value IV. Bromaline
(B) Terminal value V.  Lathyrogens
(C) Value Orientation Code :
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(D) IS Uil

feferiaa atiferer Ao o1 99T 2 €
ETE

(A) IT=@ AT
(C) 3iifeer ATy

(B) et amg
(D) ¥ AT

el | e § 9 e § el
TS I ST & 2

[ T =g

. 3Teholle BTl

. & oo

Iv. smfeE

V.  dRS

&<

Paper-I1



12.

13.

14.

15.

(A) 1,10,V B) LI,V
C©) 11Iv,v (D) 1V, 1, 11
Which of the following micro
organism  cause food  borne
intoxication ?

L. Staphylococcus aureus

I. E.Coli

II.  Clostridium botulinum

IV. Listeria Monocytogens

V.  Salmonella

Code:

(A) 1&II (B) I1&III
(C) M&IV D) IV&V

Which of the following tools are used
for personal management ?

L. Menu Tally

II.  Job description

III.  Production schedule
IV. Work schedule

V. Budget

Code :

(A) TandII (B) HMandIV
(©) VandlV (D) TandV

Sustainable fashion includes

L. Environment friendly material.
II.  Socially responsible methods.
III.  Fast changing fashion.

IV. Products that could last multiple
seasons.

Codes :

(A) 1,1l and III are correct.
(B) II, Il and IV are correct.
(C) L III'and IV are correct.
(D) L IIand 1V are correct.

Which are the fabrics known for their

strength ?
L denim II. mulmul
III. satin IV. casement

(A) TandII are correct.
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16.

17.

18.

19.

(B) I and]IV are correct.
(C) TandlV are correct.

(D) MTandIV are correct.
The elements of design are :

I. Line II. Vision
III. Form IV. Colour
V. Texture

Code:

(A) ILLIILV
(B) IILILV,IV
(C) LILIV,V
(D) V,IV,IL1

Harmonal changes are associated with
L. Aggression

II.  Regression

II.  Frustration

IV. Depression

Code :

(A) IandIIare correct.

(B) ITandIV are correct.

(C) L IIIand IV are correct.

(D) All are correct.

Home Science at undergraduate level

was first introduced in India in

L. Lady Irwin College, New Delhi

II.  Women’s Christian College,
Chennai

II.  Mount
Bangalore

IV. Queen Mary’s College, Chennai

Code :

(A) TandIIl are correct.

(B) IIandIII are correct.

(C) Il and 1V are correct.

(D) Tand]IV are correct.

Carmel College,

Which of the following are
presentation type visual aid ?

L. Pamphlet

II.  Flash card

II.  Slides

IV. Bulletin Board
Code:
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12.

13.

14.

15.

(A) TandII are correct.

(B) IIand III are correct.

(C) IIIand IV are correct.

(D) TandIV are correct.

frefafed gem Sfel & ¥ &9 9 @mwr
TETY ST ST ST R § 9

I RThawEg Rad

. T HaE

. Fegread aegfcm
v. feaEitar aAEEas—
V. oA

ETE

(A) 13RI
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(B) 13RI
(D) 1V RV

FHHANET & Yoo | 7= . F & 9
YT o ST BT & 2

I Heg et

. % fgeRo
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V. &
ETE
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16.

17.

18.

19.

(A) 13RIITEE |
(B) I 3RV W& |
(C) T13RIVEE |
(D) I ARV |
festen & e &

| G I1.
. &9 Iv.
V. &Ee

E T

(A) ILLIILV

(B) IILIL V, 1V

(C) LIILIV,V

(D) V, IV, 1L I

4%

AT Ui T &
[ omREead L
. oewEE 9 Iv.
&<

(A) 13RI TE |
(B) I RIVEE |
(C) L I3V TEE |
(D) ST Tt T E |
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RIC | 4

I gt 2 e, 7 feoet

. o g Fies, o8
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V. & 91 Hiedst, 978

ETE
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(C) NARIVEEE |

(D) 13RIVIEE |
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TETIH TTE & 2

I UTRelE I W &E
. wEed V. geifed s
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20.

21.

22.

23.

&<

(A) 13RI TE |
(B) I ARIITEE |
(C) M3V W& |
(D) 13RIVIEE |

A negatively skewed distribution has
following characteristics :

L. distribution skewed to left

II.  distribution skewed to right

III. median is greater than mean

IV. median is lesser than mean

Code :

(A) TandIV (B) HandIV
(C©) TandIlI (D) MandIII

Assertion (A) : Vegetables rich in
tannin turn brown on cutting

Reason (R) : This is due to
maillard reaction
Codes :

(A) Both (A) and (R) are false.
(B) Both (A) and (R) are true.

(C) (A)istrue and (R) is false.
(D) (A)is false and (R) is true.

Assertion (A) : Consumption of
plenty of fruits and vegetables
protects individual from
degenerative changes in the
body.

Reason (R) : The antioxidants
present in fruits and vegetables
help in the removal of free
radicals.

Codes :

(A) Both (A) and (R) are false.

(B) (A)is true and (R) is false.

(C) Both (A) and (R) are true.

(D) (A)is false and (R) is true.

Assertion (A) : Menu pattern is the
choice of the types of food to
be served.

Paper-I1

24,

25.

26.

Reason (R) : It is placed in a
printed form on the dining
table.

Codes :

(A) Both (A) and (R) are true.

(B) (A)is true but (R) is false.

(C) (A)is false but (R) is true.

(D) Both (A) and (R) are false.

Assertion (A) : Vinegar should be
added in the last rinse while
laundering silk.

Reason (R) : It contributes to the
crispness and shine of silk.

Codes :

(A) (A)is correct, but (R) is wrong.
(B) (A)is wrong, but (R) is correct.
(C) Both(A) and (R) are correct.
(D) Both (A) and (R) are wrong.

Assertion (A) : Terry cloth has
good absorption power.

Reason (R) : Itis a cut pile fabric.
Codes :
(A) Both (A) and (R) are correct.

(B) (A) is correct, but (R) is
incorrect.

(C) Both (A) and (R) are incorrect.

(D) (A) is incorrect, but (R) is
correct.

Assertion (A) : Functional  design
for a work place is a design
meeting the requirements of the
work and the worker.

Reason (R) : Properly designed
workplace enables the worker

S-12-13



20.

21.

22.

to work comfortably with less
energy expenditure.

Codes :

(A) (A)is correct, but (R) is false.
(B) (A) is false, but (R) is true.
(C) Both (A) and (R) are true.

(D) Both (A) and (R) are false.
THRIHE EARE S CIfCR)
Tt €

I 9 3R STt foaor

[I. S SR remfye foawor

. Hifeas (@feen) e § s § |
V. THifeam @i A T 9§ |
&<

(A) 13RIV
(C) 13RI

(B) 1I 3R IV
(D) I 3R 11

AHA (A) : 2 TER Fesiiar e
B E

HRUT(R) 98 fHorme widaber @
BT E |

&<

(A) (A) 3T (R) IHI T & |

(B) (A) 3R (R)THI W€ |

(C) (A) el & 3R (R) Tord & |

(D) (A)Tod & 3 (R) W € |

AUH (A) : FeAl T Flssrl 1 TR
AT B Yo A B IRR H BN
e UARI UReAT o T
FATT |

HRUT(R) ol qa Gfesdl o U
ST aTet AT- STeRiTehReh el HorT
TRl o TARTEROT | HETaeT il € |

%<

(A) (A) T (R) IHT o & |

(B) (A) W&l ¢ 3R (R) Totd & |

(C) (A) 3T (R)TH W&l & |

(D) (A)Tod & 3 (R) W € |
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23.

24,

25.

26.

Aty (A) - WG IH aret fafay
@RI URTEt & g S H AT

Fd § |
FRUT(R) @H & 09 W T Jiga

WET § TGN STl & |
ETE
(A) (A) 3R (R)THI T T |
(B) (A) W&l g fhg (R) Tord € |
(C) (A) T & fhq (R) Wl € |
(D) (A) 31T (R) T 7Tera € |

At (A) - W FUS H ogH H
fmes & ey e & @y
SIAT ST =T |

FRUT(R) & WW &H 906 3R
FHEHIATT | AR AT |

ETE

(A) (A) W@l g, W= (R) ToTd € |

(B) (A) oI &, W= (R) W&l & |

(C) (A) 3R (R) I TEI & |

(D) (A) 3T (R) TH TeAa € |

FUT(A) X T H AEH w TS
ST |

FRUT(R) : T FHAGATIL A ¢ |

ETE

(A) (A) 3T (R) T W&l & |

(B) (A) W& & W< (R) T ¢ |

(C) (A) 3T (R) TH 7Tora € |

(D) (A) o &, W (R) T ¢ |

FUA(A) : fFd wE wWH
RN feoed o8 € < @l &
HT 3T TR Bl STATAHATST hl
R H AT & |
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27.

28.

FHRUT(R) : $F ©H H 3k &1 O
TR T Teste et =t glaen
Y W HH H TS el & W
I A | HH ol ol & |

C I

(A) (A) T, W (R) Tord & |
(B) (A)Tord &, W= (R) W&I € |
(C) (A) AR (R) I T E |

(D) (A) 3R (R) 3 T & |

Assertion (A) : Adults who can
maintain their identity after
marriage and couple who have
similar family background are
less likely to be divorced.

Reason (R) : Identity crisis leads to
behavioural  changes  and
similar  family  background
increases life satisfaction.

Codes :

(A) Both (A) and (R) are correct, and
(R) is the correct explanation.

(B) Both (A) and (R) are incorrect.

(C) (A) is correct, (R) is wrong
explanation.

(D) (A)is wrong but (R) is correct.

Assertion (A) : Formal education is
the highly institutionalised and
hierarchical structured
education system.

Reason (R) : Formal  education
makes it more easy for students
from the weaker section of the
society to re-enter it.

Codes :

(A) Both(A) and (R) are correct.

(B) (A)is correct, (R) is wrong.

(C) (A)iswrong, (R) is correct.

(D) Both (A) and (R) are wrong.

Paper-I1

29.

30.

31.

32.

Assertion (A) : All human
communication has  some
source, either a person or a

group of persons with a
purpose.
Reason (R) : The purpose of the

source has to be expressed in
the form of message.

Codes :

(A) Both (A) and (R) are false.

(B) (A)is true, but (R) is false.

(C) Both (A) and (R) are true.

(D) (A)is false, but (R) is true.

Assertion (A) : Type I error is made
when a false null hypothesis is
accepted.

Reason (R) : Setting of L-larger

makes for relatively more
powerful  tests of  null
hypothesis.

Codes :

(A) Both (A) and (R) are true.

(B) (A)is true, but (R) is false.

(C) (A)is false, but (R) is true. (R) is
not an explanation of (A).

(D) Both (A) and (R) are false.

Write the correct steps of preparation
of fruit jelly in proper sequence.

L. Test for readiness using sheet
test

II.  Prepare fruit extract and add
sugar

II. Pour it in to sterilized jar and
seal airtight

IV. Boil till bubbles become large
and liquid becomes viscous

Codes :

(A) ILIv,Lmr  (B) LILIIV

(©) 1aLiv,1  (b) HULIV,ILI

Give the correct sequence of foods in

increasing order of protein content :

L. Samolina

II.  Groundnut

II. Soyabeans

IV. Sweet potatoes

S-12-13



33.

27.

28.

Codes :

2A) I TV, IIL, 11

C) IV,LILTI

Give the correct

constructing a menu.

L. Select starters and salads

II.  Add side dish and cereal dish

II.  Select main dish

IV. Add an accompaniments dish

V.  Choose desert and beverages

Codes :

(A) ILILLV,IV

(B) 1IV,L V,1ILII

© VILLILIV

(D) 1LILLIV,V

FAT(A) S T (qaE % gvEr
O T S TEd § 3K A
T S TH W TIRAE g™
T & I dolw H FHEAT HH
B T |

HROT(R) : T@dH H FHe FIRR
IRETH BT & 3R WReTe I
g #H TS G ST G

Tl ¢ |
R-

. .

(A) (A) 3R (R) I Tl & 3 (R)
TE A € |

(B) (A) 3 (R) IHi ToAa € |

(C) (A)TEE, (R) ToTd AT & |

(D) (A) 7o &, T (R) W&T € |

B) LIV,IILIII
§D§ IV, I, I 10

sequence for

FUA (A) TR O sgd s
M T HUEHHE e
foret vomedt € 1

HRUT(R) : o= o 5 9t &
f=1 =t & faenféat & faw o
TEYT I 2TTHeh ST BT € |

(A) (A) 3R (R) A W& E |
(B) (A)TEE, (R)TodE |
(C) (A)TaE, (R) T T |
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29.

30.

31.

32.

(D) (A) AR (R) I AT € |

FUAT(A) : UAF AT FAR B
AT &, HIE T 37aT T B
T {51 PiE LI AT ¢ |
A& (R) : ST A % 3T H TIW
% T H AT FAT AT € |
TN

(A) (A) 3R (R) TH ToAa € |

(B) (A) W& WG (R) T ¢ |

(C) (A) R (R) A W€ |

(D) (A) 7o &, T (R) W& € |

AfuHAT (A) : TRT 1 TR (J) 3
I WTFheUT i TR UR T
ST E |

HRUT(R) L H I ST HA
Y I UERGT W R T
GRS & ST € |

&<

(A) (A) SR R)IATTE |

(B) (A)¥E &, W (R) f=m & |

(C) (A) foemm & W= (R) ¥F & |
(R), (A) T T&l IuF &1 & |

(D) (A) 3R (R) T e € |

®Al bl SToll I i ety TEl 3TIshH

¥ foafas

[ 3iic 2% & ST b T Hl
i Y

II. Wl 31 3Th FATRT ITH T STt

[II. ST Saer 5 el 3R g
Ied o L

IV. Jogel 98 89 3R Wamdl ordien
T TH IA

E

(A) ILIV,L 1 (B) L IL LIV

(C) ILULIV,I (D) NLIV,ILI

U W dgdl ge AT % %A |

Trfoiaa @rer TaTe i SFared i -

L gt 1. ket

. FEEs IV. =l
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33.

34.

35.

36.

®:
(A) LIV,ILI (B) LIV, ILII
(C) IV,LILIl (D) IV,ILIL I

HI S I UishaT i el 369 § ford

[ WY AR TR H e

[ RS S 31X 3N 5T SieT
II. H&F & %l IAE

IV. WerEsh e i e

V. e SR 9 @ g

%<

(A) 1LILILV, IV

(B) 1V, 1V, 1L 1II

(C) V,ILLILIV

(D) 1LILLIV,V

Arrange the following in the proper
sequence for preparing fabric for
draping :

L. Pressing

II.  Blocking

II. Tearing the fabric

IV. Straightening

V.  Measuring the dress form

Codes :

A) IV,ILILLV
B) LILIULIV.V
C) IV, V,ILILI
(D) IL LIV, IV

Give the correct sequence in the
manufacturing of staple fibres from
synthetic filaments.

L. Drawing

II.  Spinning
III.  Heat Setting
IV. Cutting

V.  Crimping
Codes::

(A) TLIV,I,VandI
(B) LIILV,IVandIl
(C) 1L LIILVandIV
(D) 1V, V, I, 1and III

Arrange the steps of decision making
in correct sequence.

L. Sequencing

II.  Gathering information

II.  Formulating alternatives

Paper-I1
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37.

38.

39.

IV. Selecting an alternative
V.  Considering outcomes

Codes :

(A) V,IV,ILLII
(B) ILIV,ILLV
(C) ILIULV,LIV
(D) LILILIV,V

Give the correct sequence of Piaget’s
theory of Cognitive development.

L. Pre-operational stage

II.  Formal operational stage

IIT.  Sensory-motor stage

IV. Concrete operational stage
Codes::

(A LILIv,i1  (B) HILLIV,I
(©) HLULLILIV (D) 1V,ILLII
Arrange the essential phases of the
extension educational process in
correct sequence.

L. Teaching

II.  Deciding upon objectives

II.  Analysis of the situation

IV. Reconsideration

V.  Evaluation

Codes :

(A) LIOLILV, IV

(B) ILLIOLIV,V

© IHILLILIV,V

(D) HULILLV,IV

Give the correct sequence as per the
Berlo model of communication.

L. Message
II.  Source
III.  Channel
IV. Decoder
V. Receiver
VI.  Encoder
Codes:

(A) VLILLV,IILIV
(B) LI V,IILIV, VI
(C) 1L VLILILV,IV
(D) I, VLLILIV,V

S-12-13



40.

34.

35.

Arrange the steps for the test of a

hypothesis in correct sequence

L. Decide on the region of rejection
(o)

II.  State the hypothesis to be tested

II.  State the alternate hypothesis

IV. Collect data

V.  State the research question

VL. Apply relevant statistical test and
calculate the test statistic

VII Reject Ho if test statistic falls in
region of rejection

Codes::

(A) ILII, V, 1V, VL 1, VII

(B) V,IV,ILIL I, VI, VII

(©) V,ILILLIV, VI VI

(D) IV, ILIL V, VL1, VII

T STHT F TIT o T TR HH &
W@aﬁaﬁmﬁfaﬁ

[ e

II. AR

[I. % = fagror

IV. e & (L)

V. Uy ®9 9 JOT

YA

(A) IV,ILILLV
(B) LILILIV,V
(C) 1V, V, IIL 1L, I
(D) IL LIV, I,V

' WM § VU A S HT TE B
T .

I SEd II. e
[I. &< dfer V. e

V.

YA

(=N

(A) 1L IV, I, V 3R 1
(B) L IIL V, IV 3R 1I
(C) 1L L I, V 3R IV
(D) 1V, V, 11, 1 3R I

36. TIUM S % TN o T&l shH H oIme
I Shiehar
II.  go e
. foehea sAmT

S-12-13
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37.

38.

39.

40.

IV. U faeeq sl qersT
V. URomm W fommr

(A) V,IV, 1L 1L 1

(B) ILIV,ILILV

(C) ILILV, LIV

(D) LILIILIV,V

e & A fawm (fmne &
FATHICT SaTH) [agTd & T&l A i
ﬁf?ﬂﬁﬁﬁq :

[ Yd uReEreH staer

I SHeTes g sTewen

[[I. Wog-arets (THRI AieY) STewe
IV. 39 uREmed e

R.

(CA) LILIV,II (B) IIL LIV, I
(C) NLLILIV (D) IV,IL L I
foaR Siferes ufshan & A 3reremat
E7) ﬂﬁ e éﬁ%‘l@ :

[ 3rame

I Se9al o FHuRoT

1. Tt & foveror

V. =R

V. g

YA

(A) LILILV,IV
(B) IL L IILIV,V
(C) ILLILIV,V
(D) ILILLV,IV

AR H SRl UeT & STIR TEl 5 6
TEE I

I o3

II. «d

. ==

IV. 3a%es (fehie)
V. "%

VI. T

TN

(A) VLILIL V,II IV

(B) L1 V,II, IV, VI

(C) 1L, VL IL LV, IV

(D) 1L VL I, III, IV, V

feAlEd aTerhed T & 2% i UThansti
% G&l A | fafEu
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41.

42.

[ ST % &F (o) 1 o
AT

[I. 3L T dell WEhedT 6l
e &

[II. Scdss WEheoT ol Frvad
AT

V. IHu/Ahe 1 9

V.  SEYE U H FvEd wEr

VI. UM Wi 9ieior AT
3R T gifers 1 & T

VII. 3R 3% Fifieqsh a0 &7 |
dedt € @ T[T WERReTT @i
STTHRT

(A) 1L 1LV, IV, VL, I, VII
(B) V, 1V, IL IIL I, VI, VII
(C) V,IL I, I, IV, VI, VII
(D) IV, IL 1, V, VI, I, VII

Match items from List — I with items
in List —1II :

List—1 List - 11

a. Tomato i. Myoglobin
b. Wheat ii. Alkaline

flour phosphatase

c. Meat iii. Gluten
d. Milk iv. Lycopene
e. Egg v. Lecithin

vi. Pectin
Codes :
a b c d e
(A) iii i ii \ v
B) iv il i i \
© 1 \% v 1 il
D) v il il v i

Match the following biochemical
tests in List — I to the diseases in
List—11;

Paper-I1
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43.

List -1

(Biochemical Test)

a. Creatinine

b. Bilirubin

C. T3T4

d. LDL

Codes :

(A)
(B)
©
(D)

a
ii
111
v

i

b c
iii v
1 v
\% il
111 \%

List— 11
(Disease)
i. Liver
1. Heart
iii. Kidney
iv. Thyroid

v. Pancrease

d
v
i
i

v

Match the delivery sytem in List — |
with institution in List —II :

List -1

(Delivery system)

List— 11
(Institutions)

a. Vending machine i. Hotel

b. Meals on wheels

c. Buffet

1. Hospital
iii. College

d. Scramble method iv. Cafeteria

e. Table de hote

Codes :

a
(A) i
(B) iii
(C) i
(D) iv

b c
1i v
Vi i
1ii v
% i

v. School hostel

vi. Old age home

d e

il \4

v v

vi 1

i il
S-12-13



44,

41.

Match the collars given in List — I
with their types given in List —II :

List—1 List— 11
a. Peterpan i. Grown on
b. Mandarin ii. Convertible
c. Bush shirt iii. Non
convertible
d. Shawl iv. Stand
Codes :

a b c d
(A) i iv ii i

B) iv i i i
© i i iv il
M) i i i v

gt — 1 6t a%g o gEr — 11 6 asg @
e -
=t - 11

= - |
a. AT i. ARt

b. g 3T ii. IToholle HITheST
c. W jii. To1eA
d. ¥ iv. g
e. el v. wifaeE
vi. Ul
FT

(A) i i i v v
B) iv il i i v
© i v oiv i i
M) v i i iv i
S-12-13
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42.

43.

gar - [ ° e Sigs w@Ee
T <l g — 1 H T o | ety

= - | =t - 1
(Sfaes T whewon @)
a. TRufera 1. Ihd
b. faforeted ii. &a
c. T,T, iii. T
d. LDL iv. aEREE

v. AR

F:

a b c d
(A) i i iv v
B) i i iv i
© iv v i i
D) i iii v v
gar - 1 ¥ faf@ 78 faeRor yomet @
Tl — 11 ol Gemst § Sifed -

=i - | =it - 1
(fereroT yruTredt) (W)
a. dfeTad i. grea
b. T 3F Rlew i, A
c. Ik iii. @it
d. BaRausl@  iv. SRR

e. EETEC v. T B

vi. FSIEH
FT
a b c d e
(A) i i iv il A%

B) i vi i iv v
© i i ivovi i

Paper-I1



M) iv v i i il

44, gt — 1 % FOR B gEr — 11 § 0_q

HIERT o THRT & G FHINTT
= - | =t - 1

a. WX i W e

b. HeRA ii. Rl

c. JWIE iii. TR UREdRTeT

d. e v ¥

HT:

a b c d
(A) 11 iv ii i

B) iv i i i
© i i v i
D) i i i v

45. Match the equipments given in
List — I with their purpose of testing
given in List — 11 :

List—1
a. Xenon Arc 1.
b. Sharp point ii.

List - 11
Rub fastness
Staining test &

—_

tester change in
colour
c. Grey scale iii. Safety in
clothing
d. Crockometer iv. Light fastness

Codes :
a b C d
(A) i iv il ii

B) i i v iii
©) iv i i i
(D) il i i v

46. Match List — I with List — II :

List— 1 List— 11
a. Throughput 1. Planning
b. Input ii. Met demands
c. Output iii. Values
d. Feedback iv. Satisfaction
v. Controlling
Codes :

Paper-I1
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47.

48.

49.

a b c d
(A) i il iv i

B) i il i v
(C) i i il v
(D) i \ v iii
Match the items of the List — I
correctly with List —1II :
List— 1| List— 11
a. Endogamous 1. One man with one
family woman
b. Monogamous ii. Marrying outside
family the group
c. Exogamous  1iii. Marrying inside
family the group
d. Polyandrous iv. Many men
family marrying one
woman
v. Many women
marrying one
man
Codes :
a b c d
(A) 1 v v i1
B) 1 i i
(C) i 1 i v
(D) v 1 v i1
Match the Non-formal Education
initiatives in India with the year of its
implementation.
List—1 List— 11
I. National Literacy 1. 1989
Mission (NLM)
II. Sarva Shiksha Abhiyan2. 1967
(SSA)
II1.Jan Shikshan Sansthan 3. 2001
(JSS)
IV.National Institute of 4. 1988
Open School(NIOS)
Codes :
I o 1ur 1v
A) 1 4 2 3
B) 3 1 4 2
C% 4 3 2 1
D) 2 1 4 3
Match items in List-I with List-11
List—1 List—11
[. Bulletin 1. Miniature replica of an
board object
II. Diagram 2. Transparent Big size
photographs
III. Model 3. Display of message

IV.Diorama 4. Scenic representation

of the original
S-12-13



5. Line drawing of an
object or an idea

D) 4 2 1 3

Codes :
)| 1 111 v
A) 5 3 2 1
B 3 5 1 2
C 3 5 1 4

50. Match the items in List — I with List—11 :

45.

&

o

[¢]

List—1 List— 11
Independent i. Analysis of
variable qualitative data
Kruskal- ii. Performance of group
Wallis test not under the control
of experimenter
Z score iil. test of difference
between two groups
t-test iv. Post hoc
comparison
. Dependent v. Standardized score
variable
vi. Manipulation under
the control of
experimenter
Codes
a b c d e
A) vi 1 \% i1 1
B) 1 1 \% i vi
C) i v \4 iil il
D) wvi \% v i o
— I ¥ US SUHOT 3T gt — 11 |
gﬁv‘ FRT fodt aﬁ et TR0 % TR
e - | =t - 1
a. SHF AH i @ EREE
b. WY WEE . JNT e SR
X 1 H aREe
c. U he iii. % g
d. HHE  iv. e BREAT
T

a b C d
(A) 1 v 1 1
(B) i 1 v il

(C) iv i i i
(D) i i i v
46. g — Iaﬁga“r H@gﬁf‘aﬁﬁm
= - 1
a. i =S N
b. e ii. 9ol %l T2 A
(F)
c. IRum iii. Hog
(332 92)
S-12-13
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47.

48.

49.

d. wEaw iv. afe
v. T
H
a b c d
(A) 1 m - iv i
B) i i i v
(C) iii i i v
(D) ii iv i
g%ﬁmlﬁaﬁga% H@gﬁw%maﬁﬁtr
=it — ||
a TFUNGR i U SR F A=
T S
b. THUAT i, U TEEF
ARER e fefeme
c. TEFIR iii. oo g
g mrgaﬁwﬁ
d. v. Th
TRaR e SRt
EAREEI
E T

B) 1 i v
©) i i i v
(D) iii
Wﬁﬁ?aﬁwﬁw&wﬁ%ﬁ&m—
(EImieed) AR 36 a9 & 9y
ﬂ'ﬁﬁﬁ%i\ﬁﬂ:
=it - | =t - 1

I. T e e 1. 1989

1. o forem s 2. 1967

HI ST ToTeI0T TR (T U UE) 3. 2001

V. TLT ot &hel T2 (T 4. 1988
e 3 1)
FHe
I I I 1V
A) 1 4 2 3
B) 3 1 4 2
(C) 4 3 2 1
(D) 2 4 3
g — Iaﬁga“r 11 ¥ gaferd it
o kLN
I. 1. U o H
afed
II. s 2. URSIN 9 3MHR
o ISR
1. #eA 3. T I ISR
IV. IR 4. T 6 FelA
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5. fordt aq sTan
o = T@ie
H
I I I IV
(A) 5 3 2 1
B) 3 5 1 2
) 3 5 1 4
(D) 4 2 1 3
50 — I = gdr — 11 & 9 gafed
T - | - 11

Casa ' % frreEmn
HTIE |
c. Z-3% (@hR) il @a@ﬁaﬁ?ﬁ
d. 3w iv. HWW
e. ST = V. THHIF 37
vi. BT W UGl
= g & |
E T
a b c d e
(A) vi i v i i
B) i 1 \Y m - vi
<€) vi v v m i
D)y vi v v i il

Paper-I1 16 S-12-13



Space For Rough Work



